



BOARD OF ALDERMAN

AMENDED 7/8/2019 ~~ WORK SESSION AGENDA
CITY HALL, 345 S. MAIN, BOLIVAR, MO 65613
Tuesday, July 9th, 2019 at 6:30 p.m.

ROLL CALL
PLEDGE OF ALLEGIANCE
MOTION TO ADOPT AGENDA
MAYORAL APPOINTMENT, Introductions, Presentations, Resolutions and Proclamations,
Citizens Requests:

- 1. Discuss & Approve: Airport Hay Cutting June Date Extension.
- 2. Discuss & Approve: KLIFE Kickoff Klub August 22nd, 2019 Special Event Application.
- 3. Discussion: Stop Signs at 3 locations: South Stop Sign at N. Oakland/W. Locust; South Stop Sign at S. Oakland/Woodland; West and East Stop Signs at W. Buffalo/S. Missouri.
- 4. Discuss: Options for Doors for Restrooms at YMCA.
- 5. Discuss & Approve: Capital Expense Eligible ~ (Corrected Year) 2017 Police Interceptor SUV and Equipment.
- 6. Update: Budget Note Changes ~ To change from Claud Drainage Expense to Albany Drainage Expense.
- 7. Discuss & Approve: Frisco Senior Village, LP Development Agreement.
- 8. Adding: Discuss & Approve: Fullerton Fields Lightbulb Replacements.
- 9. Discuss & Approve: Zoning Change Application for 911 W. Broadway.
- 10. Bill No. 2019-37: An Ordinance Changing the Zoning Classification for 911 W. Broadway.
- 11. Bill No. 2019-38: An Ordinance Amending Chapter 525 Bolivar Code Related to Small Wireless Facility Deployment.
- 12. Bill No. 2019-39: An Ordinance Amending Chapter 520 Code Related to Regulations for Right-of-Way Manag.
- 13. Bill No. 2019-40: An Ordinance Amending Chapter 410 Bolivar Code Related to Communications Antennas & Support Structures.
- 14. Bill No. 2019-41: An Ordinance Amending Chapter 225.580 Regarding the City's Burn Regulations.
- 15. Bill No. 2019-42: An Ordinance Amending the City Code by Amending the City's Zoning Regulations through Addition of a New Code Section 410.255; Regarding Cultivation, Manufacture and Sale of Medicinal Marijuana.
- 16. Update: Variance with EPA update from HDR Engineering and Robert Brundage, Newman, Comley and Ruth P.C.

Executive Session:

RSMo 610.021(1) Legal Actions, Cause of Action, or litigation involving a public governmental body and Any confidential or privileged communications between a public governmental body or its representatives and its attorney. RSMo 610.021(2) Leasing, Purchase or Sale of Real Estate by a public governmental body where Public knowledge of the transaction might adversely affect the legal consideration therefor. RSMo 610.021(13) Individually Identifiable Personnel Records, performance ratings or records pertaining to employees or applicants for employment..



ESTIMATE

Date

5/7/2019

Ozark, MO 65721 Phone (417) 731-2900

6102 North 23rd Street

www.nroutellc.com

Estimate Number E19-0425

City of Bolivar 345 S Main Ave Bolivar, Missouri 65613

MPN	Description	Qty	Cost	Total
	Ford Interceptor Utility			
	2017 Ford PI Utility, 3.7L V6, AWD, White, 68k Miles **NO WARRANTY EXPRESSED OR IMPLIED ON VEHICLE**	1	15,000.00	15,000.00T
	TRADE-IN	1	-2,000.00	-2,000.00T
	2011 Ford Crown Victoria w/ existing equipment agreed upon by seller and purchaser			
DZLEO560	Dee Zee Push Bumper Aluminum (LE1660)	1	400.00	400.00T
RUMBLER-3	Federal Signal Rumbler Secondary Siren (Rumbler-3)	1	450.00	450.00T
	Federal Signal Rumbler Mounting Brackets (RB-FPUI16)	1	55.00	55.00T
	Sound Off Signal nForce Lightbar 54" Full Front Takedowns/ Alley Lights Red/Blue (NFRCE54NRT)	1	1,600.00	1,600.00T
ETSA481CSP	SoundOff Signal - nERGY® 400 Series Multi-Function Siren w/ Button Control, 10-16v - for one 100 watt speaker	1	340.00	340.00T
ETSS100N	Sound Off Signal Siren Speaker w/ Mount (ETSS100N)	1	150.00	150.00T
ETSS100CBKFV-BP	Sound Off Signal Siren Speaker Bracket - FPIU (ETSS100BKFV-BP)	1	20.00	20.00T
ETHFSS-FV	Sound Off Signal Isolation Headlight Flasher (ETHFSS-FV)	1	45.00	45.00T
EMPS1STS1W	Sound Off Signal mPower Surface Mount Lighthead Stud Mount - 3" White Front Headlamp (EMPS1STS1W)	2	75.00	150.00T
EMPS1STS4RBW	SoundOff Signal - mpower® 3" Stud Mount Fascia Light for Ford Grille Mount application, Black Housing, 12 LED, Tricolor - Red/Blue/White	2	110.00	220.00T
ENT2B3W	Sound Off Signal Intersector Under Mirror Mount White (EN2B3W)	2	130.00	260.00T
PNT1CRV05	SoundOff Signal - Curved Surface Adaptors for Intersector - 1-Driver & 1-Passenger w/ Mounting Hardware - Ford Explorer/PI Utility 2013-2017	1	10.00	10.00T
EMPS2STS4J	SoundOff Signal - mpower® 4" Fascia Light w/ Stud Mount, Black Housing, 12 LED, Dual Color - Red/Blue	1	210.00	210.00T
PMP2WSSSB	SoundOff Signal - Window Shroud Kit for 4" Light w/ Stud Mount - Black	2	12.00	24.00T
EMPS2STS4D	Sound Off Signal mPower Surface Mount Lighthead Stud Mount Red/White License Plate Area (EMPS2STS4D)	1	105.00	105.00T
EMPS2STS4E	Sound Off Signal mPower Surface Mount Lighthead Stud Mount Blue/White License Plate Area (EMPS2STS4E)	1	105.00	105.00T
ELUC3H010J	Sound Off Signal Hideaway LED Red/Blue Reverse Light (ELUC2S010J)	2	75.00	150.00T

For questions contact; Will Reynolds, 417-731-2900 or nroutellc@gmail.com

Total



ESTIMATE

Date

5/7/2019

Ozark, MO 65721 Phone (417) 731-2900

6102 North 23rd Street

www.nroutellc.com

Estimate Number E19-0425

City of Bolivar 345 S Main Ave Bolivar, Missouri 65613

MPN	Description	Qty	Cost	Total
AC-FDUV-MNT	Troy Floorplate - FPIU (AC-FDUV-MNT)	1	50.00	50.00T
CC-UV-10-11	Troy Vehicle Specific Console - 10"S/11"F- FPIU (CC-UV-10-11)	1	350.00	350.00T
FP-UV-2DC	Troy 2" face plate pre-punched w/holes to fit PI Utility OEM Sync	1	0.00	0.00T
	Option Cut-Out and 2 DC outlets			
	Troy Faceplate - MOT XPR25 (FP-VX4204) 2	1	0.00	0.00T
	Troy Faceplate SOS 481C (FP-ETSA481) 4	1	0.00	0.00T
	Troy Faceplate 3" Blank (FP-BLNK3)	1	0.00	0.00T
	Troy Faceplate 4" Blank (FP-BLNK4)	2	0.00	0.00T
AC-INBHG	Troy Cupholders - Dual - Internal (AC-INBHG) 4	1	45.00	45.00T
AC-ARMMNT-58	Troy Adjustable - Hinged Arm Rest (AC-ARMMNT-58)	1	115.00	115.00T
SUV/TRUCK	Custom Cage Single Seat Prisoner Partition Ford PIU	1	760.00	760.00T
DP-FDUV-PS	Troy Door Panel Package Rear Pass Only FPIU (DP-FDUV-PS)	1	80.00	80.00T
WG-FDUV-PS	Troy Vertical Window Armor Rear Pass Only FPIU (WG-FDUV-PS)	1	80.00	80.00T
WEI-002	Weiser Solutions - Dual Barrel-Lock Weapon Mount	1	309.00	309.00T
	Stalker - Dash Mount - FPIU (200-1065-00)	1	55.00	55.00T
	Stalker - Antenna Mount - Front - FPIU (200-1062-00)	1	72.50	72.50T
	Stalker - Antenna Mount - Rear - FPIU (200-1064-00)	1	42.50	42.50T
EVM-IDM308VS-T	Ignition Delay Module		85.00	85.00T
V23132A2001B200	Tyco 150 amp Relay	1	50.00	50.00T
	ATC Fuse Panel 6 gang	1 1	25.00	25.00T
MB8	Antenna Coax w/ End Connector	1 1	20.00	20.00T
	Sti-Co Flexible Quarter Wave Field Tunable Antenna	1	55.00	55.00T
	Install Front Push Bumper	1	50.00	50.00
	Install Federal Signal Rumbler Secondary Siren	1 1	50.00	50.00
	Install Full Size Light Bar LED	1 1	100.00	100.00
	Install Siren w/ Light Controls	1 1	35.00	35.00
	Install Siren Speaker	1 1	30.00	30.00
	Install Front Headlight Wig-Wag System	1 1	35.00	35.00
	Install Exterior Warning Light Headlamp	2	25.00	50.00
	Install Exterior Warning Light Grille	2	25.00	50.00
	1			

For questions contact; Will Reynolds, 417-731-2900 or nroutellc@gmail.com

Total



ESTIMATE

Date

5/7/2019

Ozark, MO 65721 Phone (417) 731-2900

6102 North 23rd Street

www.nroutellc.com

Estimate Number E19-0425

City of Bolivar 345 S Main Ave Bolivar, Missouri 65613

MPN	Description	Qty	Cost	Total
	Install Side Mirror Emergency Light	2	50.00	100.00
	Install Exterior Warning Light Rear Side Window	2	25.00	50.00
	Install Exterior Warning Light License Plate	2	25.00	50.00
	Install Exterior Warning Light Reverse Light	2	25.00	50.00
	Install Interior Car Camera	1	65.00	65.00
	Install Radar System	1	55.00	55.00
	Install Center Console	1	35.00	35.00
	Install Mobile Radio w/ Antenna	1	65.00	65.00
	Install Single Seat Prisoner Partition	1	150.00	150.00
	Install Window Armor	1	20.00	20.00
	Install Door Panel	1	20.00	20.00
	SHOP SUPPLIES		45.00	45.00
	FREIGHT		100.00	100.00
	Sales Tax		0.00%	0.00

For questions contact; Will Reynolds, 417-731-2900 or nroutellc@gmail.com

Total

\$20,693.00

Fullerton Fields Light Replacement Estimate and cost of Ballast Kits (if needed):

----- Original message -----

From: Carl Schober < cschober@signlink.com>

Date: 7/8/19 7:50 AM (GMT-06:00)

To: Jerry Hamby < JHamby@bolivar.mo.us > Subject: Ballast kits for ball park lights

Good Morning Jerry,

Per our discussion on Friday, The cost of each ballast kit is \$162.25. I will be in and out of the office today but you can catch me on my cell if you have any questions.

Thank You Sir,

Carl Schober

Account Executive
Missouri Neon / Signlink
cschober@signlink.com
417-576-2382- Cell
417-862-1778 ext. 143 – Office

From: Carl Schober [mailto:cschober@signlink.com]

Sent: Monday, June 24, 2019 4:24 PM

To: Jerry Hamby

Subject: Ball field Lights

Hi Jerry,

Per our discussion on changing the burned out lights at the ball fields, We can do the job on a time and materials basis and save you some money. That way you only pay for our time actually spent on the project and not on a bid price. The bulb cost is: apx. \$35 per bulb and the labor is \$89.00/hr for (1) man and the high reach truck. Example.... If we were to change 18 lamps and it took 2 full days to get that done (which it shouldn't) the total cost would be \$1855.48 plus tax.

Also attached is the rendering for a pylon sign for the water park. It shows a digital in place but this can be removed and added in at a later date if not approved for this time around. If this design is something that interests you, I can meet you and we can go over pricing and options. I'm available most all of this week if you want to get together.

Let me know if you have any questions.

Thank You,

Carl Schober

Account Executive
Missouri Neon / Signlink
cschober@signlink.com
417-576-2382- Cell
417-862-1778 ext. 143 – Office